®

Walker
Edison

furniture company

Item # : BSG4Al
Assembly Instructions

T

o

/

For the most current instructions, additional assembly tips, to report damage or request parts,
please visit our website at www.walkeredison.com.

Revised 04/2017

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.




Parts List

[ ] o [e] [=]
VH A v v
—
\} N \) 1\ \} 1Y
) g : g : 4

AN

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.



Hardware List

(e a1/4"12 Bolt

(@ @1/4"*8 Bolt
Adjustable feet

o M4*10 Bolt

Nut

L shape bracket

% Wrench
m M4 Wrecnh

Nut

[
\[©]

(> M4*30 Screw

J16*6.5*1.0mm  Washer

Philips head screwdriver required for assembly
(not included)

The hardware quantities listed above are required for proper assembly.
Some extra hardware may also have been included.

17

12

pcs

pcs

pcs

pc

pcC

pc

pc

pc

pc

pc

pc

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.


snmsung
打字机文本

snmsung
打字机文本


Insert adjustable feet (C) into the side frames (1,2). Please pay attention to the small hole for
back side to assemble the cross bar (5) then.

Step 2

small hole for
back side

Position the side frames (1,2) and top frame (3) with the small hole toward the floor. Use
\ wrench (H), and bolt (B) to secure the top frame (3) to side frames (1,2).

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved. P. 4


snmsung
打字机文本
Insert adjustable feet (C) into the side frames (1,2). Please pay attention to the small hole for 
back side to assemble the cross bar (5) then. 

snmsung
打字机文本
Position the side frames (1,2) and top frame (3) with the small hole toward the floor. Use 
wrench (H), and bolt (B) to secure the top frame (3) to side frames (1,2).

snmsung
打字机文本

snmsung
打字机文本

snmsung
打字机文本

snmsung
打字机文本

snmsung
打字机文本


Step 4

Use wrench (H), bolt (A) to secure the top frame (3) to the top shelf (6).

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.

P.5


snmsung
打字机文本

snmsung
打字机文本
Use wrench (H), bolt (A) to secure the shelf (7) to the side frame (1,2).

snmsung
打字机文本
Use wrench (H), bolt (A) to secure the top frame (3) to the top shelf (6).


-
Step 5

Secure bolt (D), nut (E) by using wrench (G) to the cross bar (5).

Step 6

@

Use wrench (H), bolt (B) to secure the cross bar (5) to back of the side frame (1,2).

.

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.

P. 6


snmsung
打字机文本
Secure bolt (D), nut (E) by using wrench (G) to the cross bar (5).

snmsung
打字机文本
Use wrench (H), bolt (B) to secure the cross bar (5) to back of the side frame (1,2).


Use wrench (H), bolt (A) to secure the L shape bracket (F) to the top frame (3).

Step 8

60-7/8"

Wall

Insert the wall anchor (1) to the wall as per diagram.

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.

P.7


snmsung
打字机文本
Use wrench (H), bolt (A) to secure the L shape bracket (F) to the top frame (3).

snmsung
打字机文本
Insert the wall anchor (I) to the wall as per diagram.


7

AN

VATA\NYA

A

N

VAN

Final Asembly

Copyright © 2017, by Walker Edison Furniture Co., LLC. All rights reserved.

P. 8


snmsung
打字机文本
Secure screw (J), washer (K) to the L shape bracket (F) to the wall as per diagram.




